

The effect of damping ratio on process response[1-5]

References:

1. Coughanowr D., LeBlanc S., 2009, Process Systems Analysis and Control, McGraw-Hill ISBN: 978-007 339 7894
2. Bequette B.W., 2008, Process Control Modelling; Design and Simulation, Prentice-Hall, ISBN: 013-353640-8
3. Seborg D.E., Mellichamp D. A., Edgar T.F, Doyle F.J., 2011, Process Dynamics and Control , John Wiley and Sons ISBN: 978-0-470-64610-6
4. Seborg D.E., Mellichamp D. A., Edgar T.F, Doyle F.J., ÇEVİRENLER: Tapan N.A., Erdoğan S. 3. baskıdan çeviriden 1.basım, 2012, Proses Dinamiği ve Kontrolü, Nobel Akademik Yayıncılık ISBN: 978-605-133-298-7
5. Alpbaz M.,Hapoğlu H.,Akay B., 2012, Proses Kontrol, Gazi Kitabevi Tic. Ltd. Şti. Ankara, ISBN:978-605-5543-64-8

$$\tau = 4 \text{ and } \zeta = 1$$

$$\frac{Y(s)}{X(s)} = \frac{1}{\tau^2 s^2 + 2\zeta\tau s + 1} = \frac{1}{16s^2 + 8s + 1}$$

$$\tau^2 s^2 + 2\zeta\tau s + 1 = 0$$

$$s_1 = -\frac{\zeta}{\tau} + \frac{\sqrt{\zeta^2 - 1}}{\tau}$$

$$s_1 = -\frac{1}{4} = -0.25$$

$$s_2 = -\frac{\zeta}{\tau} - \frac{\sqrt{\zeta^2 - 1}}{\tau}$$

$$s_2 = -\frac{1}{4} = -0.25$$

(repeated roots)

ξ : the damping coefficient

$$\zeta = 1$$

$$X(t) = 1 \quad \rightarrow \quad X(s) = \frac{1}{s}$$

$$Y(s) = \frac{1}{s} \frac{1/\tau^2}{(s - s_1)(s - s_2)} = \frac{1/16}{s(s + 0.25)(s + 0.25)} = \frac{0.0625}{s(s + 0.25)^2}$$

$$Y(s) = \frac{0.0625}{s(s + 0.25)^2} = \frac{A}{s} + \frac{B}{(s + 0.25)^2} + \frac{C}{(s + 0.25)}$$

To obtain A, multiply equation by s and set s = 0

$$s \frac{0.0625}{s(s + 0.25)^2} = s \frac{A}{s} + s \frac{B}{(s + 0.25)^2} + s \frac{C}{(s + 0.25)}$$

$$A = 1$$

To obtain B, multiply equation by (s + 0.25)² and set s = -0.25

$$(s + 0.25)^2 \frac{0.0625}{s(s + 0.25)^2} = (s + 0.25)^2 \frac{A}{s} + (s + 0.25)^2 \frac{B}{(s + 0.25)^2} + (s + 0.25)^2 \frac{C}{(s + 0.25)}$$

$$B = -0.25$$

To obtain C,

$$\frac{0.0625}{s(s + 0.25)^2} = \frac{1}{s} - \frac{0.25}{(s + 0.25)^2} + \frac{C}{(s + 0.25)}$$

$$\frac{0.0625}{s(s + 0.25)^2} = \frac{(s + 0.25)^2 - 0.25s + Cs(s + 0.25)}{s(s + 0.25)^2}$$

$$\frac{0.0625}{s(s + 0.25)^2} = \frac{s^2 + 0.5s + 0.0625 - 0.25s + Cs^2 + Cs(0.25)}{s(s + 0.25)^2}$$

$$1 + C = 0 \quad C = -1$$

$$Y(s) = \frac{1}{s} - \frac{0.25}{(s + 0.25)^2} - \frac{1}{(s + 0.25)}$$

$$Y(t) = 1 - 0.25t e^{-0.25t} - e^{-0.25t}$$

$$Y(t) = 1 - (1 + 0.25t) e^{-0.25t}$$

four conditions for the damping coefficient

ξ : the damping coefficient

$\xi > 1$ The roots of the denominator of output function are **real**, negative but not equal

$\xi = 1$ The roots of the denominator of output function are **real**, negative but equal

$\xi < 1$ The roots of the denominator of output function are **complex**

$\xi = 0$ The roots of the denominator of output function are **complex with no real part**

$$\theta_L(s) = \frac{F}{s}$$

$$\theta_1(s) = \frac{F / s (K_L \tau_R s)}{L \tau_R s^2 + \tau_R (1 + K)s + K}$$

$$\theta_1(s) = \frac{FK_L \tau_R}{K} \left[\frac{1}{\frac{\tau_R L s^2}{K} + \frac{\tau_R (1 + K)s}{K} + 1} \right]$$

complex roots $\xi < 1$

$$W_m^2 = \frac{K}{\tau_R L} = \frac{K+1}{2} (\tau_R / K_L)^{0.5}$$

$$\theta_1(s) = \frac{FK_L \tau_R}{K} \left[\frac{W_m}{(1 - \rho^2)^{0.5}} \frac{W_m (1 - \rho^2)^{0.5}}{(s + W_m \rho^2)^2 + W_m^2 (1 - \rho^2)} \right]$$

$$\theta_1(t) = \frac{FK_L \tau_R}{K} \left[\frac{W_m}{(1 - \rho^2)^{0.5}} \exp(-W_m \rho t) \sin(1 - \rho t)^{0.5} \right]$$

real roots $\xi > 1$

$$\frac{\tau_R L}{K} s^2 + \frac{\tau_R (1+K)}{K} s + 1 = (L_f s + 1)(L_g s + 1)$$

$$\theta_1(t) = \frac{FK_L \tau_R}{K} \left[\frac{1}{(L_f s + 1)(L_g s + 1)} \right]$$

$$\theta_1(t) = \frac{FK_L \tau_R}{K} \frac{1}{L_f - L_g} (\exp(-t/L_f) - \exp(-t/L_g))$$